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I.  When the offspring of pyfple and white flowered pea plants were crossed, they produced

purple and white ﬂnvq-rgﬁﬂ plants in the ratio of 3:1.
Using letter H tg@%@swt the gene for purple colour,
(a) State l‘l'@%{ﬁ%e} pe of:
Q&%g&u (2 marks)

& \\ (i1)F, generation, {1 mark)
o,
oS
@ A\
<< O {b} Work out the cross between planis in the F, generation. (4 raarks)
N |
{c} Account for the colour of the flowers in planis of the F, generation. _ {1 mark)

2.  The diagram below represenis the lower jaw of a mammal,

\3\ Y

i
_,..--

i‘\.., | - ‘

{2) Mame the mode of nuiriticn of the mamma! whose jaw is shown, (! mark)

b} State ome structural and one {anctional difference between the teeth labelied J and L.

Stiuctural, {1 maik)

Functional. {1 mark)

{z) (i} Name the toothiess gap labelied K. {1 mark)

(i1} State the function of the gap named in (¢} (i) above. {1 mark)

{d} Name the substance that is responsible for hardening of teeth. {1 mark)

3. {a) (i)} What is meant by the term biological control? & {i mark)
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(i1) Give an example of hiuigg?ga! control. {1 mark)
,&Q
(by (i} What is ﬂutraphicﬂj\iﬁan‘? {3 marks)
Q
{i1) What are th\, e:?fects of eutrophication? {3 marks)
B
{(c) Name a *;ul@taﬁﬁ’e that is responsible for acid rain. (1 mark)
4.  (a)(i) Fxplgm{  changes that take place in the pupil and iris of a human eye when a persen
y & rom a dark room to a room with bright light. {3 marks)
C% ‘r\‘,?hai is the significance of the changes explained in {a) (i) above? (I mark)
\g.
Q\ {\B] How does the human sye obtain nutrients? {3 marks)
N \Q '
@ S (o) Explain why images that form on the biind spol are not perceived. {2 marks)
N
<< N

5. (a) Explain what happens when a wilting young plant is weil waterad. {3 marks)

(b) Name a support tissue in plants thickened with
{i) cellulose; £1 mark)
{if) lignin {1 mark)
{c) Give three functions of pecioral and peivic fins in 5 fish. (3 marks}
6.  Anexperiment was carried out to investigate the effect of temperature on the rate of a reaction

catalysed by an enzyme. The results are shown indhe table below,

Temperature ("C} | Raie of reaction in mg of produsts i
5 1 per unit time. |
F B r
3 4.2
10 0.5
5 0.8
20 5 1 F
I 25 13
36 21
35 3.0
40 3.7
£5 3.4
50 2.8
o o 21
60 il
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{6 marks)
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h of rate of reaction against temperature.
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(b) When was the rate of reag@on 2.6mg of product per unit tims? {2 marks)

RS .
i) Account for the shaQ@%of the graph between:
Q’O’
(i) 5°C and 4060{3 (2 marks)
QP N
(ii) 45°C @%g\&l}ﬂi“ (3 marks)
N ?§
(d) 8}?@(\\&13}1 temperaturs name fwo ways in which the rate of reaction between 5°C and
\k_ooﬁt}\\, could be increased. (Z marks)
<< 3 \(e-) {i) Name one digestive enzyme in the human body which works best i acidie condition.
\ X

NN
X (i} How is the acidic condition for the enzvme named in (e) (i) above attained?
QA\ {2 m&l’kﬂ)

{f} The acidic condition in {2} {i1) above is later neutralised.
(i} Where does the neutralisation take place? (1 mark}

(ii) Name the substance responsible for neutralisation. (1 mark)

A
S

Pt mark

3

. How are {lowers adapted to wind and insect pollination? {

8,  Describe the rele of the liver in homeostasis in the human body. (20 marks)
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